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M LXtelEE 0
M XN (AR EX/ =)

el FHY=FA EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
| oZABTANMSMUME 2EX 1,944,000
Ax2I042 A3l 283,500 258,500 25,000
201 Leie ) 283,500 258,500 25,000
01 Al22tefsl 283,500 8,500 275,000
oY YN SHEAE SN2l Bu3 283,500
NASES dXeIEE A (1) 2,059,000 3,188,000 21,129,000
z 1,441,000
&= 618,000
307 21201 & 2,059,000 3,188,000 21,129,000
2 1,441,000
LS 618,000
RIS POV EES 2,069,000 3,183,000 1,129,000
ONS - AAIRES AT2IHE XK 2,069,000
fas 1,441,000
S 618,000
NSMSUES LNRIE NS (HBAR) 1,192,000 1,193,400 A1,400
202 01t 6,000 7,400 21,400
01 =LHOIH 6,000 7,400 21,400
ONANARES LN2ZE NA(He) 6,000
308 AHXIHMSOIA 1,186,000 1,186,000
01 MRS EXS 1,150,000 1,150,000
ONAARES AT2HE NA(HE) 1,150,000
18 2|2 SUHEI A R IEAI | 3,000 3,000 0
OXSAARNES ANATE NA (M) 36,000
XIS B S K2I AT (R EAT) 6,847, 100 6,847,100
308 XIEHHISOIH 6,847,100 6,847,100
01 MASHNBSExS 6,847,100 6,847,100
ONABSHUL2IAR (M) 6,847,100
ARI2E XIE 1,222,000 1,711,200 A\489,200
LEASENMT Me2EE X 987,000 1,404,200 A417,200
201 2Rt=3hl 13,500 13,500 0
01 At 2teltl 13,500 13,500 0
OZESEXE Alel28E K& 13,500
202 O4dl 500 700 2200
01 2uHo1t| 500 700 A200
OZESEXE Alel28E K& 500
308 XIXIEHHISOI A 973,000 1,390,000 A417,000
01 MASHNBSExRS 973,000 1,390,000 A417,000
OZESEXT Azl28E XA 973,000
HAE 12 ANES A A28 E K& 235,000 307,000 AT72,000
201 ZR=3Y] 5,000 7,000 A2,000
01 Ab2teltl 5,000 7,000 22,000
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Do gXelZE
DX KIRA (MBI SR/ = 8)

DOAlRIEE X EER=E)
SN - BE - SRS - MRA - ol &4 e HIDEY
OMAE 12! NSAR A3 5,000
308 AtXIEMSOIE 230,000 300,000 /70,000
01 MRHHBAEES 230,000 300,000 A70,000
A 12 UHSSX 230,000
QU Bt (A - SAD| ) 4,695,000 3,036,000 1,659,000
e A 4,695,000 3,036,000 1,659,000
ZAESHEH S48 |4 605,000 606,000 A1,000
202 04| 5,000 6,000 A1,000
01 =LHA LI 5,000 6,000 21,000
oXYEgst Z2F 5,000
307 212+01™ 556,500 560,500 24,000
02 QB AHANSEEX 556,500 560,500 A4,000
OXYEFHH St=2d A 556,500
308 AHXIHMSO0IA 43,500 39,500 4,000
01 XN B EES 43,500 39,500 4,000
OZYERUE S3t2 43,500
HIOIHAHOIA 2= - 2 400,000 0 400,000
307 212t01™ 400,000 400,000
02 QI AN 2 X 400,000 400,000
OUIOIHAHOIA 2 400,000
HelsaiE 29 NJ (=20 130,000 130,000
307 212t01™ 130,000 130,000
02 QI EANEEX 130,000 130,000
ozgsdlUs 29 130,000
JRIAEIESERR 2E(= 1,560,000 300,000 1,260,000
402 SI2ERH201 ™ 1,560,000 300,000 1,260,000
01 BIZEXFE AL 2= (KM 1,560,000 300,000 1,260,000
OJBAEIEYER 1,560,000
NESA MIHEHE - (201 2,000,000 2,000,000 0
RISHES 2,000,000 2,000,000
(UPI=ESE==) 2,000,000 2,000,000
OXNSSHA HIHHE X 2,000,000
HYXtel 2 (&Y - SAILLULXI /A D& 3,203,000 3,003,300 199,700
=g PN 3,203,000 3,003,300 199,700
GAEEY XA 1,103,000 1,203,300 100,300
201 Zet23 ] 1,000 1,300 A300
01 AtR2telbl 1,000 1,300 A300
OlgIEY XIZAAMY F=& 1,000
202 04| 2,000 2,000
01 AL 2,000 2,000
oubIEy XIAMY F=& 2,000
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2A:

LAtelEE 0

HE: QYR B (AR BAIILLOILX/ LIl ETIH)
el HHAA (S H2)
SIA - BE - O9I(B) - NIRAIY - S Ofl b e HIR=2
307 212+01 A 1,100,000 1,200,000 100,000
02 QIZtAAAIEER 1,100,000 1,200,000 A 100,000
OuHI=Y XIJAAMNY =X 600,000
OZJ|1&Y X3AAMNY F=X 200,000
OIS T KA =& 300,000
23 2RI |E SEAS 700,000 700,000
307 QIZ2t01 A 700,000 700,000
02 QIZHBAAIEER 700,000 700,000
od&HAHE &S N3 700,000
ZIHLWIIK XA(2IHEEXH) 100,000 100,000 0
307 212+01 A 100,000 100,000
02 QIZHAAAIEE R 100,000 100,000
OXJIIEAIIIX K& 100,000
HEEAX=Z RO0/% THE XA 1,200,000 900,000 300,000
306 == 300,000 300,000 0
01 23 300,000 300,000 0
OFEAFAXZ FOIX tHE XA 300,000
308 AXISHMSOIH 900,000 600,000 300,000
13 S| 2ASHICHEHE A E L EFALAH] 900,000 600,000 300,000
OFHEAXNS 201X & XA 900,000
ClEIEHSTHI X KJA(2IHEEEXH) 100,000 100,000 0
307 212+01 ™ 100,000 100,000
02 QIZHAAAIE EX 100,000 100,000
OO0 =L TIHII X XI& 100,000
HEAXte! U HE(ASSX/=S) 4,362,332 8,754,460 A4,392,128
iy 737,917
T 3,624,415
HAL el 1,986,571 1,840,000 146,571
A Y E 20 B2 KA 1,810,000 1,660,000 150,000
308 AXISHMSOIN 1,810,000 1,660,000 150,000
13 BI 2 SUICHEHZ A XL EFALH] 1,810,000 1,660,000 150,000
OdY CIgs 2t &= XIJAAL 1,810,000
23 FEdH 29 116,571 100,000 16,571
308 AXISHMSOIN 116,571 100,000 16,571
13 I 2SHICHEHE & X2 EALZHI 116,571 100,000 16,571
OLAFAEH 29 116,571
23 FESH B4 15,000 0 15,000
308 AXISHMSOIH 15,000 15,000
13 SI |2 SHICHEH B AR L EF AL 15,000 15,000
OZd HUSH &4 15,000
HdEcel otattiol 2 45,000 55,000 A10,000
308 AXISHMSOIN 45,000 55,000 A10,000
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2A:

X ZH -
o=

LAtelEE 0
ATl M 2 HEE(AMI=EN/ES)

el FEanc 33 (Gt M)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 RSN EES 45,000 55,000 10,000
O&dIH O3tdI0l 2Y 45,000
Fdgiiel ¥= 2,375,761 6,914,460 4,538,699
= 737,917
< 1,637,844
sFgiiel X3 13,000 13,800 2800
201 fer23y| 6,000 5,400 600
01 AtR2t2|HI 6,000 5,400 600
o¥EddXel K& 6,000
202 04| 7,000 8,400 1,400
01 =LHOLI 7,000 8,400 21,400
ozddgiel X 7,000
AT 2| NASHAE (2 D) 712,377 3,712,35% 22,999,979
= 511,117
== 201,260
307 elztol & 143,861 880,501 AT736,640
= 72,341
< 71,520
02 2B YAIHE A 143,861 880,501 AT736,640
oFEdL T el XSS 143,861
[ 72,341
= 71,520
308 AHXIHMSO0IA 568,516 2,831,855 A2,263,339
= 438,776
= 129,740
01 XN B2 LS 568,516 2,831,855 N\2,263,339
o¥Edd el Agsd 568,516
= 438,776
== 129,740
HAAT 2| AMIIBHHSE(2 D) 300,384 1,749,000 A1,448,616
s 226,800
= 73,584
307 @120l & 50,400 551,302 500,902
[ 25,200
= 25,200
02 LB HANHEE 50,400 561,302 A500,902
O42Z2PDINS s 33y X2 50,400
= 25,200
=S 25,200
308 AIXIHHSO0IA 249,984 1,197,698 NOAT 714
= 201,600
& 48,384
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2A:

LAtelEE 0

FH: FEgiel 33 & FE(MASA/=S)
ol FEeRie 2E EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
01 XN BdELES 249,984 1,197,698 NI4T, 714
O£22Z2PDINS Us FE&Ed Xd 249,984
= 201,600
< 48,384
4 FYEH 2E NFAES 1,350,000 1,350,000 0
308 AtXIEMSOIE 1,350,000 1,350,000
18 SIS ZB XA AIE 1,350,000 1,350,000
OFd HP=HIRE K& 1,350,000
HYE2SAH(LXZE AN (DIEH/DIE) 36,822 37,330 A508
Jl=3H| 36,822 37,330 A508
SEN2E Jl2dl 36,822 37,330 ~508
201 er23| 25,698 26,130 N4
01 At22te|bl 25,698 26,130 N2
PN29 A2/ 25,698
202 04| 7,524 7,600 AT6
01 2L 7,524 7,600 AT6
SA2E U 7,524
203 gF=4| 3,600 3,600 0
M EASHLR=AH 3,600 3,600 0
©20¢2! Olst 3,600,000& 3,600
HRas(LielZ@EM) (AER/ =) 385,000 385,000 0
LIS HHXIE 385,000 385,000 0
SS2ZME K& 110,000 110,000 0
705 Hl==dclsaE 110,000 110,000 0
04 Al - EXSGNLD S0 01 K& 110,000 110,000 0
O'208 SS22AE X 110,000
2 EnA gXiel HE X 275,000 275,000 0
705 Ol=23cISais 275,000 275,000
04 Al - =EXISHEDIS0==01Atat et 275,000 275,000
OZAE dnal el HA X2 275,000
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